EARAROBREBRT —5 XN—ZXBISH—F

20224E1288H (AR) 15@AH4H

I ETE 05%R3mLOP

‘(fﬁ} W ‘I%EH?’JF&] ~ | 5 18000 7@

[#A&%£] 1 7& 22,000,000 ~ 23%&:7,700,000 F  33&:4,400,000 0§ 43 :2,200,000 F 53 :1,100,000

B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
118116l 54 v 1—U7 45 g;igﬁz 1:(51).6 3-3-2-2 |38.0| - 8 | 490 Pﬁ(ggﬁf (J‘_LIIM’&D'\7 .
: - ~ rOvRI7—
RIRVIATFAwIIAUTP— 8:ZART OS54 K (R RS )
) B o6 | RERE— 1:52.0 8-8-8-6 |37.9| — | 12 | 519 |FLLBSE (V)
2@l g | YVIF PRIV 57.0 o) AEE
REVFOYY BI—IRLF— @) | Es
. <, =~ 4 6 | MEEATIE 1:52.3 5-4-6-5 |38.4| — 1 529 |WTEZ (#its)
3 3 HI)THTY 57.0 (' 3/4) 3 EiEmELE
RANVIRSAY BI—F T YT O | g o
San <, 4 4 | FIEEE 1:52.4 4-5-5-6 |38.5| — 4 476 | TEEEch (Rotd)
40312 4’-7]4:\/7 57.0 /2 @) | % He roL—yvs
RiFvoInqO— H:9)LT73-)L B 5hE
S = i 7 | BEXH 1:52.5 9-10-11-13 [38.2 | — | 10 | 502 |FLLES® (v
sjs|o| 2997952 o BN
RIN=YITSA BiRA oA (/) #B81-RL—yavBEEI7
= _ w7 | FHEH 1:52.5 11-9-10-8 | 38.4 | — 7 | 492 |®LEEE CKH)
o 4| T 1LTSAT- o 57.0 o v | B TYF-L—vv7.
RIN=YITS5A B:IALSRNUYT (/) #HB8I1-RL—yavEEI 7
4 3 | BIHER 1:52.9 6-6-7-9 [38.8| — | 13 | 483 |JARE (RO
& ,j?_'f)_b\ - N 55.0 ® s |BlEE
Rib—tVISA4 b~ B:b—tyIzI—IL AR IRFAT7—L
= = # 7 | AR 1:53.3 7-7-4-4 (395 | — | 1 | 473 |BESEE (KH) \
87|13 JA=YTIF =X 5.0 @ @) | @ 5YFL—yur
RFVIAANRN B:SIOIRER J—YUTr—L
= s 3 | AEESE 1:53.5 15-12-13-11] 39.2 | — 3 513 | HRNEFE kH)
911 :.Tj#b“?r? ) 55.0 ) (5) | EAKEE
RiN«A40O B:YIVIRUR e
), R — # 5 | LIGHE 1:53.6 2-2-2-3 | 40.0| — 5 498 | &FFE (1B
105 [10| T FiRA¥— 58.0 9 (e |BEDL
RibSvEYR B:RIVIRILA BB
S NO—2 44 | )R 1:53.6 1-1-1-1 | 40.1| - 2 455 | HEAN (H618)
1M1112 77_//\[‘ X ) 57.0 (79%) ) FERRILR
R:ANZ—ka1—X #:AvO0y—4 KIFERRUS
Y= — H 3 | BARE 1:53.6 [13-13-12-12| 39.3 | — 9 | 550 |3EER (618)
/a_/ I\><__73 o ‘ 53.0 N 47) |EEER
RIVIRI—ZZRI— BRYRT4 X TEEHS
= % 4 6 | BEX 1:53.8 12-14-14-14/39.3 | — 15 | 475 | FEHBASL ()W)
XLTAF¥IT 57.0 (3/4) o |SEn
RNMVTSY B:RLT A« ERRKIS
© 4 5 | RES 1:53.9 9-11-8-9 |39.8| ~— 6 | 580 |3REHHT (#648)
fS/Z;G F/\-X . 57.0 (172) (-4) :IlﬁPﬁ}EﬂE’.
R:T7x/—X/ B:eO0r7ryz0 B EWig
= _ o9 | SEHEM 1:54.0 16-16-16-16| 39.2 | — 16 | 499 |EEIBE (KH)
/7\\.I~\7:'(7'f 7)|J-‘ o 57.0 (/8) Co |8 *rOvhor—n
RiFvyvY/FEF B:ZAIFISTH Al =%
o EEER 1:54.6 14-15-15-15/39.9 | — | 14 | 507 | AMEE= KH)
A=Y o4 SR Sl
: (3) FEHEFER
RTUF—Y BAA—RUUvT 08 | rigis
@ 11— —BBIEfI
13—7— 2,10,16,12,3,14,13,8,(9,15) ,4,11,7,5,1,6
20—F— 2,10,16,3,12,14,13,8,4,9,15,1,7,11,5,6
30—7— 2,(10,16) ,13,12,3,14, (8,15) ,4,9,7,1,11,5,6
43— — 2,16,10,13,3,(8,12) ,4, (14,15) ,1,7,9,11,5,6
o ILRE
B B 16 1,400 JA R 8-16 8,790H % 5E 4-8 3,290 3EE 3-8-16 45,340H
7B B 16 480 3-16 1,490/ B 8-4 6,280M 3EH 16-8-3 571,750
8 890H 3-8 2,430 5B & 8-16 35,5304
3 1804 BB 16-8 63,370

ABIC OV TRUTEREERRODDZE. THRIIZEL.




